
SAP ABAP table MCKONA {Subseq. settlem.: Vend. bus. and reb. income comm. structure}

MCKONA

KNUMA [CHAR (10)]

LIFNR [CHAR (10)]

WERKS [CHAR (4)]

BOLIF [CHAR (10)]

MATKL [CHAR (9)]

EKORG [CHAR (4)]

EKGRP [CHAR (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

KUNRE [CHAR (10)]

ABSPW [CUKY (5)]

KONWA [CUKY (5)]

KONWS [CUKY (5)]

MEINS [UNIT (3)]

KONMS [UNIT (3)]

GEWEI [UNIT (3)]

VOLEH [UNIT (3)]

PUNEI [UNIT (3)]

HWAER [CUKY (5)]

STAFO [CHAR (6)]

SEKORG [CHAR (4)]

BZIRK [CHAR (6)]

EKSGB [CHAR (4)]

ABTNR [CHAR (4)]

LAND1 [CHAR (3)]

WKUNNR [CHAR (10)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 MCKONA-KUNRE = KNA1-KUNNR 

0..N

0..N

 MCKONA-WKUNNR = KNA1-KUNNR 0..N

0..N

KONA

MANDT [CLNT (3)]

KNUMA [CHAR (10)]

 MCKONA-KNUMA = KONA-KNUMA 
0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 MCKONA-LIFNR = LFA1-LIFNR 
0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 MCKONA-WERKS = T001W-WERKS 
0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 MCKONA-LAND1 = T005-LAND1 

0..N

0..N
T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 MCKONA-GEWEI = T006-MSEHI 

0..N

0..N

 MCKONA-KONMS = T006-MSEHI 
0..N

0..N

 MCKONA-MEINS = T006-MSEHI 0..N

0..N

 MCKONA-PUNEI = T006-MSEHI 

0..N

0..N

 MCKONA-VOLEH = T006-MSEHI 

0..N

0..N

T023

MANDT [CLNT (3)]

MATKL [CHAR (9)]

 MCKONA-MATKL = T023-MATKL 

0..N

0..N

T024

MANDT [CLNT (3)]

EKGRP [CHAR (3)] MCKONA-EKGRP = T024-EKGRP 0..N

0..N T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]

 MCKONA-EKORG = T024E-EKORG 

0..N

0..N

 MCKONA-SEKORG = T024E-EKORG 
0..N0..N

T026

MANDT [CLNT (3)]

EKSGB [CHAR (4)]

 MCKONA-EKSGB = T026-EKSGB 

0..N

0..N

T171

MANDT [CLNT (3)]

BZIRK [CHAR (6)]

 MCKONA-BZIRK = T171-BZIRK 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 MCKONA-ABSPW = TCURC-WAERS 

0..N

0..N

 MCKONA-HWAER = TCURC-WAERS 

0..N

0..N

 MCKONA-KONWA = TCURC-WAERS 

0..N

0..N

 MCKONA-KONWS = TCURC-WAERS 
0..N

0..N

TMCB

MANDT [CLNT (3)]

STAFO [CHAR (6)]

 MCKONA-STAFO = TMCB-STAFO 

0..N

0..N

TSAB

MANDT [CLNT (3)]

ABTNR [CHAR (4)]

 MCKONA-ABTNR = TSAB-ABTNR 

0..N

0..N

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 MCKONA-SPART = TSPA-SPART 

0..N

0..N

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 MCKONA-VKORG = TVKO-VKORG 

0..N

0..N

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 MCKONA-VTWEG = TVTW-VTWEG 

0..N

0..N


